Missed Questions on Exams

To reveal the answers on our exam, you need to click on the "hide/reveal" icon (Paragraph Icon) in word.  This will reveal the answers.
1. The process of determining the probability and cost potential loss is known as:

a. Probability Risk

b. Risk Assessment -?

c. Potential Loss Analysis

d. Physical Security

Answer: C 
Potential Loss Analysis 

2. When not in use, top secret material should be stored in:

a. Class A vault

b. Class B vault

c. Class C vault

d. Class D vault

Answer: A 
Class A vault 

3. The most important factor in achieving cost effectiveness in your security program is the recognition and application of the principal of

a. Probability

b. Vulnerability

c. Risk analysis

d. Leverage

Answer: D
Leverage 

4. Labor Relations is broken down into three major subject areas.  They are

a. Management relations, industrial relations, personnel relations

b. Personnel, organization representation matters, and bargaining

c. Contract administration, contract negotiations, and organization/representative matters

d. Contract administration, contract negotiations and grievance procedures

Answer: C
Contract administration, contract negotiations and organization/representative matters 

5. In a situation where there is air turbulence caused by air conditioning and there is activity adjacent to the protected area, which combination of motion sensors may be used to reduce or virtually eliminate false alarms?

a. Passive infra-red and microwave

b. Ultrasonic and passive infra-red

c. Ultrasonic and microwave

d. Capacitance and ultrasonic

Answer: C
Ultrasonic and microwave

6. Perhaps the most common shortcoming in the security industry is

a. Lack of support by top management

b. Failure to properly prepare and equip new supervisors with tools to discharge their important responsibilities (supervisory training)

c. Lack of planning

d. Lack of monetary resources

Answer: B

7. With regard to a possible nuclear attack, the attack warning signal is

a. 30 second long alarm

b. 2 minute long alarm

c. A 3-5 minute wavering sound in siren or a series of short blasts or whistles

d. A 30 second wavering sound

Answer: C

8. Protective lighting must be designed to discourage unauthorized entry and

a. Prevent internal pilferage and illuminate the exterior of all buildings

b. Illuminate all fence lines and use electrical power efficiently

c. Aid in the detection of intruders and use electrical power efficiently

d. Aid in detection of intruders and prevent internal pilferage

Answer: D
Aid in detection of intruders and prevent internal pilferage

9. You are the manager of a security company.  You have an opportunity for new business that will generate $5,000 a month.  You decide not to take on the account because the additional revenue generated by the account would be less than the additional cost to service the account.  The process used to make this decision is

a. Break-even analysis -?

b. Game theory

c. Margin analysis

d. Linear programming

Answer: C
Margin analysis

10. A security professional must consider every type of possible emergency because

a. With careful planning, damage from unexpected events can be prevented

b. Federal emergency assistance can only provide support if it is aware of the possible occurrence

c. The state will then be prepared to respond to the event

d. Emergency management resources are limited

Answer: D
Emergency management resources are limited

11. There are two generic types of Closed Circuit Television (CCTV) sensors:

a. Tube and solid-state

b. Electron beam and tube

c. Coaxial and wireless

d. Solid-state and fiber optic

Answer: A
Tube and solid-state

12.
Which of following statements best describes “Discipline?”

a) “Training the corrects, molds, and strengthens an employee…”

b) “Educate an employee and serve as a means to an end…”

c) Punishment

d) Should only be directed at the inefficient worker.

e) A & B

f) A, B, & C

Answer: F, 
(A, B, &C) – Training, corrects, molds… Educates… and Punishment

13.
Private security is clearly the nation’s primary protective resource, outspending public law enforcement by 73% and employing how many more personnel?

a) 1 times

b) 2.5 times

c) 6 times

d) None of the above

Answer: B
2.5 times
14.
This individual offered the first burglar alarm service and purchased the design from Augustus Pope in 1858 

a) Henry Wells 

b) William Fargo

c) Washington Perry Brink

d) Edwin Holmes

Answer: D
Edwin Holmes 
15. The American With Disabilities Act passed in 1990, greatly extended the area of federal influence to virtually every business engaged in or affecting interstate commerce.  Complaints or investigations of suspected violations of this federal legislation are conducted by: 

a) United States Attorney Office

b) Architectural and Transportation Barriers Compliance Board

c) Office of Federal Contract Compliance Programs

d) Office of Civil Rights

Answer: B
Architectural and Transportation Barriers Compliance Board  

16.
Criteria for evaluating the adequacy of security in general include: 
a) Foreseeability of the loss incident

b) The likelihood that a given combination of countermeasures would probably prevent a loss incident

c) The duty to provide such measures, considering the relationship of the parties

d) A, B, & C

Answer: C
Duty to provide such answers
17. What is the primary goal of a physical security program? 
a) Protect people, product and assets

b) Control access

c) Protect classified or proprietary material

d) Minimize liability to the company

Answer: B
Control Access
18. Disaster Recovery and Emergency programs ensure the proper flow of _______________when any disaster or emergency occurs.
a) Critical Information

b) Merchandise

c) Personnel

d) All the above

Answer: Critical Information
19. A factor that should be considered in planning barrier protection is the prevention of surreptitious entry.  Therefore, the physical protection plan should be designed so that if an intruder does succeed in gaining entry: 
a) Response by security or police is generated

b) Evidence of an entry should be immediately apparent

c) 75 foot clear zones should exist around the perimeter

d) Chain link fencing should be extended to the perimeter of the complex

Answer: B 
Evidence of entry should be immediate


20. The lecture, a common method of security training, particularly for large groups with little or no knowledge of the subject is: 
a) An ill effective means of motivating learners

b) A method which should be complimented by other learning methods

c) Is the best method for presenting concepts and policies

d) All the above

e) A and B

Answer: E
An ill effective/should be complimented with other methods


21. The most basic idea in general accounting is best explained in which formula: 
a) Ownership (equity) = Assets + Liabilities

b) Liabilities = Assets + Ownership (equity)

c) Assets = Ownership (equity) + Liabilities

d) None of the above

Answer: C
Assets = Ownership + Liabilities
22. This Act/Law reduced the crime of a first time possession of smaller amounts of drugs from a felony to a misdemeanor, concentrating on the more serious distributors of narcotics: 
a) The Comprehensive Drug Abuse Prevention Act

b) The Narcotic Drug Control Act

c) The American With Disabilities Act

d) The Drug Free America Act

Answer: A
The Comprehensive Drug Abuse Prevention Act


23. The purpose of an adequate loss report is to provide the assets protection professional with a number of statistics to enable them to make quick and effortless assessments and decisions.  The loss report should accomplish or suggest: 
a) Generate suitable information for event profile and modus operandi file construction

b) Help establish accountability for losses or indicate that no accountability control existed

c) Significant number of employees participating in systematic theft is an indication of a larger management issue

d) All the above

e) A and B

Answer: D
All the above
24. More proprietary information is lost due to the failure to: 
a) Initiate legal recourse against those who have stolen the information

b) Establish and maintain effective control systems 

c) Implement appropriate access control measures

d) All the above

Answer: B
Maintain effective control systems
25. There are two basis types of hostage situations, they are:

a. Standard kidnapping, hostage kidnapping

b. Hostage kidnapping and barricade kidnapping

c. Standard kidnapping & financial demand

d. Standard Kidnapping & Barricade-and-Hostage incident 

Answer: D 
Standard kidnapping & Barricade and Hostage incident
26. The sensor which is used when air turbulence is present in the protected room and when there are no potential false alarms sources outside the room and in the field of the detector is:
a. Acoustic detector

b. Vibration detector

c. Microwave motion detector

d. Ultrasonic motion detector
Answer: C 
Microwave motion detector
27. The sensor which is used when light air turbulence, vibration and motion outside the room are present is:
a. Acoustic detector

b. Vibration detector

c. Microwave motion detector

d. Ultrasonic motion detector
Answer: A 
Acoustic detector
28. The type of sensor which is not influenced by exterior noise; which reacts only to movement within a protected area; and which can be adjusted so the movement of air caused by fire will activate an alarm is known as:
a. Proximity detector

b. Ultrasonic sensor
c. Electro-mechanical sensor
d. Audio sensor
Answer: B 
Ultrasonic sensor
29 Assume you are to protect a remote warehouse that possesses a space heater, has no Air Conditioning, and at times the temperature reaches 98.7 degrees Fahrenheit.  Which sensor is best suited for this application / environment?”

a. Acoustic detector

b. Vibration detector

c. Microwave motion detector

d. Ultrasonic motion detector
Answer: C 
Microwave motion detector
30.
The type of lock generally used on automobiles, desks and cabinets is:

a. Pin tumbler
b. Warded
c. Combination
d. Wafer
Answer: D 
Wafer
31. The primary tool of pre-employment screening is the:

a. Interview

b. Application Form

c. The investigation

d. The investigator

Answer: B 
Application Form
32. When investigating computer crime in the corporate setting, the primary objectives are:  Which does not best fit into this investigation process

a. Determine the methods used to breech or circumvent system controls

b. Determine where/who the information/equipment is being given

c. Protection of the organizations assets

d. Identifying and prosecuting the individual/s responsible
Answer: B 
Determine where/who the information/equipment is being given
33. Perhaps the most common shortcoming in the security industry is:
a. Lack of support by top management
b. Failure to properly prepare and equip new supervisors with tools to discharge their important responsibilities (supervisor training)

c. Lack of planning

d. Lack of monetary resources
Answer: B 
Failure to properly prepare and equip new supervisors with tools
34. Wrongful appropriation of the personal property of another to the use of the taker is a tort called:

a. Conversion

b. Larceny

c. Trespass

d. Embezzlement
Answer: A 
Conversion
